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101|R#A7 L 143 5 138| Kg |@S 1,620 486|1E 5 3,240 1,404
102|357 L 1,285 1,285 Kg BIE 1,593 555
111|&EEF £ 133 14 119| Kg |&40 1,620 1,512| &40 1,782 432
113|RAV S 17 1 16| Kg |&)I 1,404 T 3,525 2,160
114|B5EFE 125 125| Kg BRE - &E 2,970 1,620
117[14 % 11 11| Kg fE 3,780 3,132
121{hblE € 22 3 19| Kg |EE 1,297 1,080|#& & 1,944
134[#= 244 100 144 Kg |=# 3,600 1,800 £ 8,640 2,160
137|&5E3.< 254 183 71| Kg |BER 4,320 432| 4,644 3,564
140(5 I 15 15| Kg b 27,360 18,900
147|E2 O 81 81| Kg i 14,040 5,000
168|BIEH AL H 194 194 Kg BR 2,376 1,944
201|{Lb L 717 17| Kg =B - =) 400 126
203|/hé L 60 60| Kg FfE 351 216
207| = AE 32 32| Kg sl 945 540
208|m>% 310 310| Kg L 1,512 432
209|942 & L 55 55| Kg = 1,080
210{1F AL 12 12| Kg RI5 3,780 2,160
212|&5E.3 Y 706 706| Kg Ko - BiE 2,592 1,350
251|< %<3 243 243 Ke |= 6,480 4,860
254|EhRECH 915 915| Kg T 2,484 1,026
303|1A 220 9 9| Keg L 648
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306|Le kY 8 8] Kg . 900 785
319|2h o 131 131] Kg R 3,888 1,944
332|= 13 WA =EF 263 263 Kg 2P 2,160 1,620
3bl{HHV 20 20 Kg = 3,240

35411FxE<Y 81 81| Kg = 3,564 1,037
355(mp Y 136 136 Kg FH - P E 2,160 600
356(L L& 70 70 Kg SER 1,512 324
357|7RE 61 61| Kg FEE 2,160 945
362(H & 419 419 Kg FE 3,240 612
4025 5 &E 5 5 Kg A0 5,616
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A—wah 80 80| Keg & 1,836

Jasy by (AN 342 342 Kg JtiF 1,450 1,300
RGBT AV 1,443 1,443| Kg F73 4,320 360
ARUEAT 219 219 Kg 3 1,620 360
Gl 50 50 Keg F 972

R 527 527| Kg s - M 3,771 1,067
RS S 25 25| Keg F 1,200
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70110 BA 336 336 Kg s 4,428 1,890
710(5 2 ATF 254 2541  Kg Ko 864 745
BlBEFALANIN 13 13 Kg SR 1,500
755(Fd L 30 301 Kg B 803 728
76l|1b Y AEE 12 12 Kg FOarL 2,620
76713725 WD 262 2621 Kg =1l 3,600 1,800
801|BHL =T 318 318 Kg ¥ - A 2,100 1,134
802 1 60 60| Kg blo ] 1,404
805 = 1E 820 8201 Kg bF 1,145 691
810|BAKTF 554 5541 Kg B =2 2,760 1,728
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